ANNEXE B : Programme en langage Python

x=0;y=0;z=0;i=0;j=0;k=0;cer=0;lin=0
c=open(‘'D:\\piece 1.txt', 'r")
f=open('D:\\resultat 1.txt', 'a")
s=open('D:\\tab 1.txt', 'a")
for bloc in c:
bloc.split()
f.write(str(bloc))
if 'G1"in bloc.split():
txt="intepolation linéaire :'
lin=lin+1
elif 'G2" in bloc.split():

txt="intepolation circulaire sens + :'

cer=cer+1
elif 'G3" in bloc.split():

txt="intepolation circulaire sens - :'

cer=cer+1
for mot in bloc.split():
it X" in mot:
X =mot[1:]
IfY" in mot:
y =mot[1:]
it 'Z" in mot:
z =mot[1:]
it in mot:
i =mot[1:]
if'J" in mot:
j =mot[1:]
If'K" in mot:
k =mot[1:]
If'G1" in bloc.split():

fwrite (txt + '+ 'x="+str(x) + ' "+ 'y="+str(y) + "' + 'z="+ str(z) + '\n")

s.write (str(x) +' '+ str(y) +"' "+ str(z) + '\n’)
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elif'G2'in bloc.split():
fwrite(txt + "'+ 'x="+str(x) + '"+'y="+str(y) + "'+ 'z="+ str(z) + ' "+ i="+ str(i) + "'
+')="+str(j) + ' + 'k="+ str(k) + \n’)
s.write(str(x) + ' "+ str(y) + "' +str(z) + '+ str(i) + '+ str(j) + "' + str(k) +'\n")
elif'G3'in bloc.split():
fwrite(txt + "'+ 'x="+str(x) + ' "+ 'y="+str(y) + "'+ 'z="+ str(z) + "'
+0="+str(i) + "+ 'J]=" +str(j) + ' '+ 'k="+str(k) + '\n")
s.write(str(x) + ' "+str(y)+' "+str(z)+" "+str(i)+' "+str(j)+' "+str(k)+\n’)
f.write(\n' + ‘déplacements linéaires =" +"' ' + str(lin)+\n' +'déplacements circulaires =" +"' ' +

str(cer) +'\n")

f.close();s.close();c.close()



